Estimate quotients: 2-digit divisors
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er estimate for the fo Io@

Write an expression that w a better compatible numb
Use the expression you’ve given to estimate the quotient.

132 =11

540 + 49

© http://mathskills4kids.com



Estimate quotients: 2-digit divisors

Write an expression that will dive a better compatible number estimate for the fo Iowing,f
Use the expression you’ve given to estimate the quotient.

Let’s first of al

think of 2 definite compatible numbers that can give 2 different
estimates of 213 +11

213 =11 00 =10

213 =1 20 +10

Secondly, let’s find the better compatible number estimate

You will see that 200+ 10 is close to 213 = 11

S0, 200 + 10 is a better compatible number to estimate 213 =+

Finally, we will use 200 =+ 10 to estimate the quotient

200 _ 20x10 | _ ,,

10 10 x

So, 213 + 11 is approximately equal to 2(

et’s first of all think of 2 definite compatible numbers that can give 2 different

stimates of 540 + 4¢

540 + 49 » 600 + 50

540 + 49 550 + 50

\ 4

Secondly, let’s find the better compatible number estimate

You will see that 550 = 50 is close to. 540 + 49

0, 550 + 50 is a better compatible number to estimate 540 + 49
inally, we will use 550 + 50 to estimate the quotien

550 _ x50 |_q,

So, 540 + 49 is approximately equal to 11
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